Lesson 1

This pie chart shows how children get to school. Use the pie chart to answer the questions:
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a. What percentage of the children do not walk to school?

b. What percentage of the children walk to school?

c. How many children are there in total in Key Stage 2?

d. How many children travel to school by car?




’ e. How many children travel to school by bus?

f. How many children travel to school by bicycle?

g. How many children travel to school by tram? |

2. These pie charts show the different ways that the children in KS1 and KS2
travel to school. There are 100 children in KS1 and 120 children in KS2.
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Do you agree with Ash? Explain your reasoning.







